Dividing Money (A)

—

-

10.

Calculate each quotient.

91 ) €1024.66 2. 99) €3310.56 3. 98) €6283.76
29 ) €1284.12 5. 99 ) €6409.26 6. 25) €2021.50
81) €4093.74 8 26) €840.32 9. 83 €2783.82

If 91 identical lanterns cost €3807.44, how much did each lantern cost?
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Dividing Money (A) Answers

10.

€11.26

91 ) €1024.66
—€910.00

€114.66
—€91.00

€23.66
—€18.20

€5.46
—€5.46

€0.00

€44.28

29 ) €1284.12
—€1160.00

€124.12
—€116.00

€8.12
—€5.80

€2.32
—€2.32

€0.00

€50.54

81) €4093.74
—€4050.00

€43.74
—€40.50

€3.24
—€3.24

€0.00

5.

8.

Calculate each quotient.

€33.44

99 ) €3310.56
—€2970.00

€340.56
—€297.00

€43.56
—€39.60

€3.96
—€3.96

€0.00

€64.74

99 ) €6409.26
—€5940.00

€469.26
—€396.00

€73.26
—€69.30

€3.96
—€3.96

€0.00

€32.32

26 ) €840.32
—€780.00

€60.32
—€52.00

€8.32
—€7.80

€0.52
—€0.52

€0.00

€64.12

98 ) €6283.76
—€5880.00

€403.76
—€392.00

€11.76
—€9.80

€1.96
—€1.96

€0.00

€80.86

25 ) €2021.50
—€2000.00

€21.50
—€20.00

€1.50
—€1.50

€0.00

€33.54

83 ) €2783.82
—€2490.00

€293.82
—€249.00

€44.82
—€41.50

€3.32
—€3.32

€0.00

If 91 identical lanterns cost €3807.44, how much did each lantern cost?

€41.84

Math-Drills.com




